HEAR

. FUEBREUSLUREE
TFR2OEE FHEBSRBSVESE

p 2 45| =2t (v2 =22 (v
RBERTE HEEHN | B5EY | B5%E (%)
S 68 49 72.1
HEEEER 71 56 78.9
BEEH 91 87 95.6
=X 230 192 83.5
TRIBFE H2HERSHBLUVBER
N2 45| =2l (v =22 (v
REERTE HEEHN | R5EH | B5%E (%)
WERFER 62 52 83.9
HEEEAER 72 69 95.8
FEEH 89 87 97.8
=Xl 223 208 93.3




HEAR

s FUFRSBEIUVERESE
FR2FE PHUFREBEIVERER

KEFRE 2R =3 v FRIREE(%)
HEEEY | BREEH

REEERFUHRE 5 5 100

B HEEAH ETEH(A) &7 3 (%)

BEFERE 10 8 80

ERB0EE ZHUFRSHBIURER

KE R 2R =3 v FRIREE(%)
HEEEH | R5EH

REEERFUHRE 4 4 100

g HEEAR ETEH(A) 187 3 (%)

BEFELE 9 9 100




